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! 02d.bas

option arithmetic complex
1 set window -3,3,-3,3

] set axis color 1

draw axes

let j=complex(0,1)
def G(s)=1/(s+1)

-T 1}
n\_/ set line width 3

for w=0 to 1000 step 0.01
let s=j*w
let H=G(s)
plot lines:Re(H),Im(H)
next w
END

)



! 02c.bas

option arithmetic complex
set window -3,3,-3,3

set axis color 1

draw axes

let j=complex(0,1)

def G(s)=1/(s"2+2*s+1)

s=0.0001 ~ 1

(0,-1/2)

set line width 3
for w=0 to 1000 step 0.01
let s=j*w
let H=G(s)
plot lines:Re(H),Im(H)
next w
END

rl=15,r2=15,x1=10, and x2 = 10.
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S
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n +72+ j(Xl + Xz)
S
0.025
1 G= ! =7-1073 - 0.049i
5] .
rl +§+ J(Xl + X2)
=0.0001 -1 (0,0) (0.007,-0.049)
! 02e.bas

T _'|j 5 """"""""

option arithmetic complex
set window -3,3,-3,3

set axis color 1

draw axes

let j=complex(0,1)

let r1=1.5

let r2=1.5

let x1=10

let x2=10

def F(s)=rl+r2/s+j*(x1+x2)

set line width 2
for s=0.0001 to 1 step 0.0001
let H=1/F(s)
plot lines:Re(H),Im(H);
next s
END
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show
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rotate
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